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EOsg HEORS

HAKEAR H30.4.11] H30.5.16] H30.6.20] H30.7.18] H30.8.22] H30.9.13] H30.10.10] H30.11.21] H30.12.12] H31.1.16] H31.2.14] H31.3.13
DHFEENEONT- A H30.4.26] H30.5.25[ H30.6.27] H30.7.25[ H30.8.29] H30.9.26| H30.10.16] H30.11.29]| H30.12.19] H31.1.23]| H31.2.21| H31.3.22
PH 7.8 7.7 7.6 6.8 — 6.7 6.9 6.8 7.2 7.3 7.4
BOD 0.6 1 1.7 <05 — 0.9 0.8 0.5 1.2 0.7 05
COD
SS < 6 < < — <1 1 < 58 <1 2
AEGEEH <30
n—A~NF YU EYE <05
n=-~FH U4 E GhH)
n-~F U E@EHEYH)
£ER
EYPS
Ix/—)LE <0.5 <05
&l <0.02 <0.02
X 0.24 <0.05
AR <0.3 <0.3
AREIAY <01 <0.1
270, <0.02 <0.02
NN <0.003 <0.003
STALEY <01 <0.1
AHRILEY <0.1 <0.1
$a <0.01 <0.01
Aifiv 8L £0.02 <0.02
[ <0.01 <0.01
£ KR <0.0005 <0.0005
7ILEILKER T T
PCB <0.0005 <0.0005
SHoOOrey £0.02 <0.02
Mgtk <0.002 <0.002
12->/00T4Y <0.004 <0.004
11->/00TIFLY <0.1 <0.1
YA-1,2-YYOAIFLY <0.04 <0.04
1,1,1-FJ9001%y <0.3 <0.3
1,1,2-FJ9001%y <0.006 <0.006
r)ZOOIFLY <0.01 <0.01
FESH/00TFLY <0.01 <0.01
1,3-Y9007'0AY <0.002 <0.002
FI7.L <0.006 <0.006
IV <0.003 <0.003
FARU AT £0.02 <0.02
oty <0.01 <0.01
L <0.01 <0.01
IvRiLE 3.1 5.9
1F5% 12 10 11 58 — 48 50 76 140 180 110
TUE=THER <05 <05
WHREERRUERBEER 25.<05 17405
FUEZT.TUE=LELEY e
=EEE 25 1.7
14— F 9> <0.05 <0.05
BRATEE 620 670 590 1300 — 1200 1200 1200 1900 2200 1600
FAFFXIFE
ER Y T A EES <0.1 <0.1 0.2 0.1 <0.1 <0.1 0.1 <0.1 <0.1 <0.1
PH 7.8 7.3 7.6 6.9 6.9 6.9 73 6.8 6.6 76
BERICEE 99 79 130 180 68 87 99 32 42 47
ERDEE 3 3 = 3 3 3 3
TRk
1. BlE
E)

BEZHELEZAR




AEDRER

EREAR H30.4.11 H30.5.16 H30.5.16 H30.7.18 H30.8.22 H30.9.13 H30.10.10 H30.11.21 H30.12.12 H31.1.16 H31.2.14 H31.3.13
FEOXRR [DHERELSFLNIH H30.4.26 H30.5.25 H30.5.25 H30.7.25 H30.8.29 H30.9.26 H30.10.16 H30.11.29 H30.12.19 H31.1.23 H31.2.21 H31.3.22
it [l it [ it [l it [ it [ it [ it 52 it 52 it 2] it 52l it i3l E[4 i3l
PH 7.3 75 7.2 75 7.0 75 7.0 7.3 7.1 7.6 7 7.4 6.9 75 6.8 6.6 7.1 75 7.2 7.2 7.4 7.7 7.1 75
HEEHL <0.0003| <0.0003 <0.0003] <0.0003
TUIEEY | TBrd | THRH
£ <0.005[ <0.005 <0.005[ <0.005
NMEZ AL <0.005[ <0.005 <0.02 <0.02
Ex <0.005[ <0.005 <0.005[ <0.005
2kER <0.0005| <0.0005 <0.0005| <0.0005
T ILFEILIKER | THRH ST
PCB TR TR TEH] TR
HOAARY <0.002] <0.002 <0.002] <0.002
mig{bixE <0.0002| <0.0002 <0.0002| <0.0002
12->4-/00TR> <0.0004| <0.0004 <0.0004] <0.0004
11->H/O00ITFLY <0.01 <0.01 <0.01 <0.01
1,2-"9a0I¥LY <0.004] <0.004 <0.004] <0.004
1,1,1-FJ/0AT4Y <0.0005| <0.0005 <0.0005] <0.0005
1,1,2-F)/0AT4Y <0.0006| <0.0006 <0.0006] <0.0006
PRSI <0.002] <0.002 <0.002] <0.002
TSSO FLY <0.0005| <0.0005 <0.0005| <0.0005
1,3-7 007 AN Y <0.0002| <0.0002 <0.0002] <0.0002
FoS5L <0.0006] <0.0006 <0.0006] <0.0006
ROV <0.0003| <0.0003 <0.0003] <0.0003
FARHILT <0.002] <0.002 <0.002] <0.002
R <0.001 <0.001 <0.001[ <0.001
L <0.002] <0.002 <0.002[ <0.002
IvRI{tEY 8.9 0.14 9.0 0.13
F5% 160 <0.1 120 <0.1 200 0.1 160 0.2 150 0.1 140 0.1 140 <0.1 120 0.1 120 0.1 120 0.2 63 <0.1 64 <0.3
WEEERRUEEBEER 16.0 0.2 14 — 6.8 — — — — — — — 9.1 0.3 — — — — — —
TFUERZT . TUEZVLILLEY
ERBILSNRUERIEESY
14—UA4 %90 <0.005]  <0.005 <0.005]  <0.005
AOQTFLY <0.0002] <0.0002 <0.0002] <0.0002
ERCEE 1800 150 1700 170 2200 150 1900 170 1900 160 1900 150 1900 160 1800 160 1700 170 1700 170 1600 170 1600 180
FAAXHE
BikAF> 56 30 60 27 60 27 56 25 52 26 54 26 54 24 57 25 43 37 47 26 52 28 54 27
E-RyNOE=F::3 i1 it it it it it it it it it it Fiii2 it Fiii2 it it Fiii2 it Fiii2 Fiii2 it = = =
BEZHL-AR




